Restar Enteros (H)

Emplee una estrategia de enteros para encontrar cada respuesta.

-99 - -48 = 94 --92 = 12 --48 =
29 - -64 = 54 -75 = -30-8=
89 - 82 = 79 - -56 = 3-91=
56 - -35 = 47 -21= 86 - 49 =
86 - -53 = 94 --14 = -78-25=
74 --89 = 22 --67 = 35--95=
-34--83= 75-18 = 2--86=
-86--20 = -25--30 = 62 - -44 =
-23-38= 31--18= 73 --51=
71-15= 52-33= 81-6=
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Restar Enteros (H) Respuestas

Emplee una estrategia de enteros para encontrar cada respuesta.

-99 - -48 =
=-51

-29 - -64 =
=35

89 -82 =

56 --35=

=91

86 --53 =
=139

-23-38=

-71-15=
-86

94 --92 =
=186

54 - 75 =
=-21

79 --56 =
=135

-47 -21 =
=-68

94 --14 =

-12--48 =
=36

-30-8 =
=-38

3-91=
=-88

62 - -44 =

73--51=

=124

-81-6=
-87
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